FIRST YEAR HIGHER SECONDARY EXAMINATION MARCH 2019

SUBJECT : MATHEMATICS (COMMERCE)

Qn Sub [

No_ ans

i ‘Ql)

Answer Key/Value Points

(/g

CODE. NO: FY 51

Score

. U

A m’

! Total

| 2
I&Mﬁ For any Vem dmaram give | score 3
® | 30412 = 42 |
I remark Alternate méthod aive Full Scove
2 ‘ @ A+ 2 -=.5 ; A= A /L?_
J-I =k , y=>5 )2
3
® €+3)@9 = F@O-tg@ X 2
2 2
 fepe - a3 '
3 @ Zol_@j N
09)‘ Let 143 i = ¥ (Cas® +18in6) |
Y={T3 = %
|
| Cﬂser.%-.-_.li ’ S’mB,%._—_ﬁi
‘ - e —_— :g): ):L [ 5
Polar form s 2(6s Ta '\S\h%)
Remark: Polar fomn of 5 aive full scowe
h @®) n(_7 = 'ﬂch_‘_1 - Vlc_& (3wen) )
[ h"‘-’ =3} )
n =10
@i 10 | 3
- (b) ‘1F>4_ 2,

= 3024
Remark: fomula for "Py gwe X Score.




‘an | sub | Answer Key/Value Points 'Score | Total |
|No |Qns | ‘
' ' -\ |
5 @ ®ax
®  ar=12 _@ Y
at* .68 —@® y 3
D5 ~ley, v=4 Lo |
| ®- a— lQ- — 3 z— | I
P = —4- = I N
6| @ Slope - %4 %
N~
TR 8
B gy -mia—) 5
3-3 < ~L(x—) i
| © Since the lines ave porallel Slopes ave equd !
! Slope =_-J_5__ -
1 i("t) O or O | ]
| ® | n@) =36 l |
Let A: event of agthng a sam 3reabar than 1O ! |
A-{60,69,9} A |3
' = 3 _
E P® 3-8 4
s, omark : PO =1L give 4 soe
8 @ AxB={G),0,9,6.063606} 2
Remark ; for any 4 Correct ovdered parrs Qve 2 Seove !
® | number oF velations — ;{'(")‘”@ ho | 4 :
= ¢ 41 ‘
© R-{eDe} ! |




‘Qn | Sub Answer Key/Value Points Score | Total |
‘No |'Qns
9 ® kWS =4 oand RHS =1-1=4 \
| . LHS =RHS
‘ s PO is tyue
(®) | Assume that () is ‘e | \ ‘
Pﬂ<3=)"f§_+-h:+ ——————— +-Rl|:"‘ "—F |
| Pledsy Loda--- + e L4
| = “"3‘;“’5‘5«\ XA
= —1 — -
l_E Qale-n T |— akﬂ }5_
| hene proved !
[0 Let (3347 = 2+4y b

Squaring on otk SldeS) 3443 = q_?'_d"'+ L‘Qng |
Eqnaking veal and imaginary parts

W-yZ3 ad Axy=4 h+h

| .0- @,_L+892= @L_dﬂz_i_ a'x\sz |
- 32._‘_49_ - 25 4
R R

Yy =5 Jﬁ. |

%1.__&4.= 3 |
Qo.lvma, AN = 8, W= b, =22 A

a9%=a, =1 ,4==I ) |

‘i B4 = tax A ‘
L Remark Alloynate method gwe full Score ‘
L @] (—22°= 1 5¢,62)+ 5¢, 8- 5,60+ 56,6156

‘ = |- 5(3%) + 10(q20) - 10 (272} 5(8D-28C| Y

= | =152 + 90 n — 870 23+ 405 90 — B

A
=~

Remark

. Formula for @-\-_bj' or@-@" give | Scove
|




'an | Sub

Answer KEy/Value Points

Score

—_—
Total

5n=ﬂ?"£_lj_—lﬁ qwe Y Score )

No [ans | —
n-v LY
Cb) TT-H = nCy b \ |
- ‘
[ = ‘QCT 112 G.LT
| 1aC, iy L
mdependenb ol‘- = ke Wik oL
| 12 -2v-0 = Y=06 %
' T7 = 12CG l's'_lhe TEEILMTQd 'IETm #_
ilZ A do | 4% + by +C , |
o I atapr
- |-—QC"?D+3! k,
Ji+
= §_ J’q_
15
® Equation oFa line povpendicslevts %~ 2y+3=0 s ‘
Ru+y—k=0 —O
Se O posses Hhrough 0 2-23-k=0 k=0 %
. the vequred equaton 1§ Rx4y9=0 Y
Remark Allemale. method give £l core 3
13 @) () n(n+d@nt) I |
G .
® Let Sy=T+77+77T 4---~ 4o nterms A
% =T[40+ 114 = o nienis] % ‘
= 3[4+994299 < - to ntermy] s a4
= 2 [@-D +feo-Dfiovo-D+--- ko n’rerm]_ 4
= %__@o+loo+—-- hnhn@-—@u«--_-—ﬂih@ | Y
=§la-[:lo(:2"—|)_£] 4
Remark ‘



Re

Remetk: L Quokient vule gre | Score

an [sub [ ~ Answer Key/Value Points - | Score | Total N
'No- | Qns '
‘ I (a) Com paxing wilf Y= yar , ba=8 ,4a=2 %
S+ s = (4,9 = (2,9) o
Remark : for the fyrmala give % Seave 4 ‘
® Leng\h of latus vechm = Ka = § yyke 24
O -2 G- 42 .
@~ Q—)= 5* |
L4 y* 4a—al=0 , 5the equaton of e cirde — +
5@ | d={ao e ieay %
| = {G-DH— D*€3-* =52 uniks %
® On YZ plane o wordinate =o !
Lt dhe vatio be Kk :| %
L= ka,+ 1 % *
k)
0 = 3k+-3 %
<+ 1
.. Yatio s 2:3
L Remar Altemale method give full seove
16 ‘ ® W £k |
OY % - @__..Sm@ a‘%_('anx)_ Qus_mgj\_i.(x—mmb "
(a-Smz)* o
‘ = (1-5m0) (t+Cos ) —(a+Sin)(1— Cos 1) 1%
(2—Sn)* Ll-
‘ = R Aot —Sinx
@,—Smx)"




i Qn | Sub Answer Key/Value Points

7 | @ | ) ~g>~P
(b) | Let Ji be vational
JW = a. uﬁm o and b have no (ommon: Pnchvs

a=r b, d=lb—0
I divides a® e |l divides &
T
bet A=l k , subittuhig @, (1K)=1F"
12l k"=t b" 1] k% b"
= | divides b* &, || divides b

/

= |\l ¢ a common fader for a and b} which 18 4
| Conshyadichon Yo our assumption
I @ an 1yrvational number

'No | Qns _ - - ‘

@

Score ‘ Total

ho| R

18 @ PUQ_{IZB 4,41, a}

- {7- 4,1}

© @u@‘ - is}

® | IS0EA L _ o0
@ Cos 52 (ot A
Remark : Ry each frmula give ) Score

CC) tangx = tan (Fx4%)
= ‘tanan+ tan
| | — tanax, tanx




!Qn' "sub |

Answer Key/Value Points

| score | Total |

| -
_ S
TP Solubon vegon

(No_|ans |
tan 31(\—tananbun99 = tanne+tank
ton 3 — tanat—tant. = tanaa kanax tana

P’\emm‘k:_‘;& _ :
mala for tan (x-m) qve Y. Score
0 | @ Ay Wz —10-A%+9
= IS
LYy 4o
T
Bax)y 8~
T 2 —a
Xy 2
=
® BdX+hYy=24 AAYy=3
x| o [ % x| 0] 3
YWie | O yi3]o0
o

! - = A,
=2 +Y=3

Remark

.4 For each corvect ling %we | Seove

For correctlines and inCorreet Sdution vegion gne 3% Sowre

3@

anC3 U

nc, |
an(an-1)(@n-2)

1.2 .3 =1
nln-y (n-2)




' Qn Sub | ~ Answer Key/Value Points Score | Total |
‘No | Qns _ _i
'&n(an-D&U\-l) =
n(n-l)Cn—-ﬂ.) y
6
4lan-) =02
%n_4, =ln—-22 }’
| '-'Bn' ='-18 n=6 - 6
Remark !
| — Formula for N, give ) Scove
(b) humberlbf— letters n=8, M'sszi I's=2. 5’:. |
number o} words - nt L
— .
R) Rl-—--Rt
= 21\ |
N B 21 2}
22| @ X = X%
n_ %
| = 4243+ ~--- 41
n C
= 0 I'H-i) l
z
‘ N
®  ascending ord ~ |
sundug orlr > 3,4,5[9 7,5, | 6
Median = 6 A
€% 3|1 4|5 | 6 7 | s | 9 |
% 5.l Ix—mi| 3 |2 | | O | 2| 3 . |
S l—m| =12 %,
Mean deviation sbout median = = |2-M| |
n
\ - 2 5
|
] o )




| Qn

Sub '

Answer Key/Value Points

Score ' Total

Na Qns |
23 Mid 2% £ [ x| 4a ‘
B 5 | 25 125" |
15l 9 | a5 | 20295 | ' |
25 | 17 | 425 | 10a% |
__ 25 |4 490 17150 |
“ 45 | 5 | 225 | 10125 3
_ 50 | 1300 | 40050 |
@ an:gr_\!&" - !%3-9-——26 ‘Jrz_ﬂg_
| 0
| ® | standard devigten = [T (bt ¥
N N 6
= \r 40050 _ (b)Y | |
50
= f - =JI95 =~ I1.18
© | Coefficient of Socll o =25 11 J,‘i ‘
= S )/
Variation (€v) s X100 z
= ||.18 x\00 = 432 yZ.
26
| )
2% () P(AerB) = FAVE)= PO+ P® — PRNE) |
® | plnot A) = pa)= I— p® b
=\-3-% ok
© | P(nobA and not8) = P(A' B )= 1— PALE) , ‘ c |
% 2l = \—L = 5 i ‘
| & n iz = 12
n(d= nlA) _1o 3 |
P(A) _

_——




an
No

- Sub

Answer Key/Value Points

| Qns
v | Orsua DianATIOS )
ST PHupmENA R SS %t___,
Koo aravd ,  BanadetchArd
2. | Tayasree-7T-
ASMMUSS ab:rﬁde Podskkeod _ ({‘,é/’/
8 | HBREESH-S .
St- mows s Pamgapuram _
4 | Jose Mathens f{%*’
St 'f\OM&i g H-S§ Vellasarokusmu
5 @uf)wméf Luke
W_Sc

&t - @mmmcs (4.4-8, K,MHMAJDPQH&

Subbash- k. k 4964 2(85 ,ﬂl&w
SRKOVMASS Rivngttukavy S

Shrﬂa- N/
R.G.M. H-5-3 .Mokest , Kannus

Gps
‘| 9%,+8ruDH-U -p @

ToH8S, Thurayoo

Score

Total

i




